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  L�   ����� ����   

�� �� ���� r
  L���� �  �� ��!�	"�� #�����  R = 10Ω , E = 5V.  
 �%&�
!'&	�� (�
"� )(�(�*+ ,&���%!
� #����!  (.�/ 	��0��:  

2 ��	��� ���% ��! ��
��� 3������ �4���� �	�!����
5� ��(�� ����! u R(t) .    
2 ��(�� ����! ����
�� ���% ��! ��
��� 3������ �4���� �	�!�� u b(t).   

�6���� t = 0  #����� ��7 �6�� ���
�.  
  
  
  
  

  
  
  
  
  

  

128 ��9	�(�:�� ���	���� 3!4� 	���/ ��!�
�� ;�0�� ;�� .  
2�!/   ���	��� <�* ���  �/ i��=�!  R , r , E.   
2 � >���& ��+ #�	!/u R 
 u b ��=�! R , r , E.  
22 (�(�*?� ,&��! #����� %!� ��:�� ,&��� .�/ ��!�%!
��� .  
2 �!�� 
*	���
��� ���
��� �	  u R(t)
  �� ��
�u b(t)8 .  
32  '��@��! ��A��� E  �u R 
 u b8 .   
2 �	�!�� �*	�	���
�� � 8 ��A��� <�* B� .��/.  
42 ��� �"
@�CC r ��!���� ����%�� 	��!� �.  
52 �	�!�� �� 	�A%�+ u R(t)�	�!�� ,&�� �  i(t)D�  ��:  
@2����� �*	� CCCCCCC� ������ � Ci(t) 8.  
'2 ��(�� 3!	4 ���� 	��	�! �"
@ τ #����� .���&+  ���� >L.  
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E�!�
�&5� ��� �!��� C6H8O6 ���	��:�� 
@ C�	�� �F
���� )  ,	�(�� �"�	��(... ���� �� ��/ �� �"
�CC ��



 ��9�����  �
����� ��0/ G�5	! �H���
�&�I�� H�5 J	&�  K
��� ��4I� 3�� K�

�� ��"&�I!.  
I°2�!�	��� �:0�� %%�� �&��� :  (���	! E�!�
�&5� ���� (���& %�&!���HA������� ��	� �� .  
12 ����
�! '&� ����� ;���� %/@.  
22 @ E�!�
�&5� ��� �/	:� ���	�� '��HAK	��� B� .  
32 ��9	�4�� ��
���� 3!	4 �/ �!/ HA/A

− ��=�!  Xf�  C�
��� (���� ����� N
  V,"� �
����� .  
42 �4�  � C�� ,�& .�/pH  � %%�� �!�	��� �:0��)'	&� �
�!(  � �@ 	��/pKA = 4,0 .     
2  �"@ �� �
����� �� �!�	��� �:0�� �*	�pH = 3 8.��/ .   

52 �!&��� '&�@ [ ]
[ ]AH

A−
E�!�
�&5� ��� �
���� �!&��	!  C�� 
� pH = 3  �>���&� ��	� 8.  

II°2 E�!�
�&5� ���� �9	� �
��� ��! �/	:��� �&��� 
,
��
0�� ��&�
���
� �9	� �
��� :  
 ���	��� G�� ��&�C ��"
� �� ���"�� B�� � �%���� K	��� �� H�
�&� '��� 
 200,0 mL K	��	! ���� 
   

u1(V) u2(V) 
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VB(mL) 

pH 

 �
��� .�/ �0��� �	���� %� .�� �%���� (S) .I� <��� 	�"� ��VA = 20,0 mL  �
����� ��(S) 	*��	�� 
 
�
���! <(����  ,
��
0�� ��&�
���
� �9	�  CB = 2,8×10

−2
 mol.L

−1! 
 ��	���&	 ;�	�  �
��'&	�� .  
 C�� ,�� ��!	��pH�	�!�� ,&�! 3��& >�(���  pH = f(VB)�������  .  

1/2 ������ �
����� ��! ��" B��& �/	:��� �@ ��:�   
 C� HA ,
��
0�� ��&�
���
� �
��� 
NaOH .  
1.12 @�/	:��� ���	�� '���� �� �
���� P���� �	�.  
2.12  #�	!/ '��@ �9	
��� �/	:��� �&�Qrf  �@ ,4 >���&  
#�	!/ ��
���� 3!	4 KA��9	�4�� (HA/A

−
)

  ��=�!Qrf.  
3.12� #��	���� �!��"��� '������ ,&��  B3	�	�!��.  
4.12 ����&��� �
���� ;�	��� 
* 	�  ��! ��  

 ��������  A4�� ;��
���8 .��/.  
5.12 ������ �
����� ��
��� (������ �"
@ CA.   
6.12 �� ����� #�	� ���� '&�@ 20,0 mL ��   

�N�	���� �
������ �
�&��� G���� �� ����� #�	��� ���� >���&+ ,4.   
2�  �"
 ������m C�	! #���� mg G���� �� E�!�
�&5� ���� .  
2  B�0��� #�	!/ �&�«Vitamine C500».  

2/2 ,"� ��	�� ��/ 
2

BE
B

V
V =�&	&5� �
����� ��:   

1.22  � ,����� �
�" K���@ ��� H�� ����� �/	:���� �
  #�	!/ >���&��� ,���xmax��	��� <�* �� .   

2.22!  ��! ,����� �
�" �	���&	@�: 
2

 BEB
f

.VC
x =.    

3.22  ��!�  �%���� <�* ��/� @�  :f]
–

A = [f]HA[.      mol/g 1= H , mol /g 12= C , mol /g 16= O   
������ ������� :6���
   

�/	�%0+ ��� �
@ �	&�+ ,�(Galiléo) H���� MS >�	��!�� GIOVEA��  2005/12/28 .  ����� �!���� �/	�%0?
 	�%�� 	�&"(S)� 
  B��%�� H� ��5� '�" #
��Q	:��� .�/ 	��9�� ��	&� ,&�� 
 h ��5� R%& �/  .  

1/2�/	�%0?� ����� .�/ ��!%��� #
��� ,4 � <�	&� 
 �/	�%0?� ����� � ��5� 	�:�� �4� .  
2 B"���� 
* 	� 8 ��5� �
� �/	�%0?� ����� ���� �&���� '&	���� .  
2 ��
��� ��	4�� �
�	��� ��!%�� 8 B"���� ��
� �!&��	! 	
��
 '"�
�� ����:�� �* 	� �.  
2/2 �/�& #�	!/ �"
@  �
� ,4 ��=�! ����� ����G , h , RT , MT  .  
2��!	&�� 3	�%���� �� 	�A%�+ ��!��  �	4�� �
�	��� #�	!/ >���&+  .  
• ��5� �%� ;0�:RT = 6,38×10 

3
 Km  .     •,	��� '�"�� 3!	4  :G = 6,63×10

 -11
 S.I    

• ��5� (��� 
 �/	�%0?� ����� (��� ��! ��!��: R = RT + h  .   •��5� ����  :MT.   
• +Q	:����5� R%& �/ ����� : h = 23,6×10 

3
 Km.   

3/2 ��/	�%0?� �	��5� ��! 3����� �%� ;0� 
 �
� �%�� =
�" E��+  :  
�/	�%0?� �����  R(Km)  R

3
(Km

3
) T(S) T

2
(S

2
) 

GPS 20,2×10 
3

   2,88×10 
4    

GLONASS 25,5×10 
3    4,02×10 

4    
METEOSAT 42,1×10 

3    8,58×10 
4    

1.32 ��	�!�� .������ ,&�@ ,4 � �
�"�� ���@ T
2
 = f(R

3
)<�	��� '&	�� ,�& �	���&	! .  

2.32 �	4�� ��!� �
�	� B� ���
�� ���	�!�� ��A��� �@ ��I� .  
3.325� ��CCCCCCCCCCCC�� >��&+  �� MT .  
4.32����� �
� >���&+ �	�!�� .�/ ��	��/� (Galiléo)H�/�& '&�@ ,4  . 

;�	��� ������ �	"�  pH 

��4���� ���@ 4,2 - 6,2 

�
���
�
�!�� ��(@ 3,0 - 4,6 

�
(����� ���� 7,2 - 8,8 
 

:  ا�,ج
ء ا���ا23 �& ا1س�
ذإ-�,اح
ت()�'��& 
salimchettah@yahoo.fr 


